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Plant Assets & Intangibles

Plant assets have some special characteristics. For example, you hold them for use in the
business—not to sell as inventory.
-Jlecyl J el ke blansY ey (JUL Juw e Aalsdl (aibazdl oy LY aiall Jgsal
095301 LS sl
The full cost invested in plant assets can be a challenge to determine, because of the difficulty of
tracking installation, shipping, and other costs related to the asset.
oddly Sl s Bgaial Dlas uxs arall sl @ Satiad) 201 2Kl wuxs Kad
¥l aalasll 6,31 Lo IS
Plant assets usually last several years and, as a result, the recovery of their cost should be
allocated over the years they are expected to be used.
G Slgradl Hlas e Lealss slaful papass comy S xSy (Slsiw 3ie piiall Jsuol a9
Plant assets may be sold or traded in. Accounting for the disposal of a plant asset is important
because the disposal may create a gain or loss that must be reported on the income statement.
oalsetll Y Loo Thal dad piall Jsual (o palietll e Lalell L 8,2 Ll o pall Joual a0y a3
I Al Lee yupatll Com Byluss ol sy ) (6950 48 Lo
The first learning objective is to measure the cost of a plant asset.
sl ol 2565 ol 151 olall o
Assets should be recorded at their cost. This is not only the purchase price, but all the necessary
costs to get the asset ready for its intended use.
et Lyopall IS per oS e Lddl (el Tadd Jody ¥ 1day Lealh Jgusd! Jimad com
EREISIRES IHY ¥l
There are several types of plant assets. Common account groupings include: land, land
improvements, buildings, machinery & equipment, and furniture & fixtures.
‘@b\ﬁl N TOPES ‘@,b\j}’\ Agyall blusll wilegems Jodds aiuall Jgeal e &\3_',? sie L
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The cost of land is not depreciated. Itincludes the following costs paid by the purchaser:
AL LB e 2o 80l AW e SIS asaats (29 LSHlial @iy ¥ (o0 ¥ 421G
* purchase price ¢/ ,dd| yas
* brokerage commission dbLwsll Agec
» survey and legal fees 4 gilall aguyllg mundl
» property taxes in arrears 5, Uil clSdiel| il s
« taxes assessed to transfer the ownership (title) on the land wuiw) (o381 S Jaud 5,801 oyl
(ausall

* cost of clearing the land and removing unwanted buildings xe LI dlsls ool adas 4l
Le sl
The cost of land does not include the following costs:
AN IS Jedd Y o) 4alSs
« fencing z Lewd!
* paving la s
» sprinkler systems i Lé,J| dalasi
* lighting 3¢ L=Y!
* signs <, Ly
These separate plant assets—called land improvements—are subject to depreciation.
AW § 990 (2 - y2y¥ Sl (£05 -Aaiad| IS sda
The cost of a building includes: JLI & IS5 Jod
« architectural fees 4lane y5>
* building permits ¢LiJl a5,
+ contractor charges Jslall a5,
« payments for material, labor, and overhead 4.8LsY1 _é.pball 4)3_?3\ Y JoY g..d\
The time to complete a building can be months, even years. If the company constructs its own
assets, the cost of the building may include the cost of interest on borrowed money. If it
purchases an existing building, its cost includes the purchase price, plus the cost to repair and
renovate the building for its intended use.
Ldssol sliidly pgas (ro (2 BLAILI O 13) ccnlgine Byiiun By « ol 0585 B el oLy I gl
oL Bagzge L sadl oS 13) LT asAall Jlsedl e Buslall 4alS5 pasans GLL 4415 & ol
s9saill Lalasial Jo¥ sailly lo¥) 24185 4] las ¢y adl jas oz 221Kl
Machinery and Equipmentcsfaal (g o¥¥1
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The cost of machinery and equipment inclu::;:tus'qzwmw
Sldally Y K paynis
+ purchase price (less any discounts)(basass sl 4 Ligsnses) s, il yau
« transportation charges Jaiull &89 ,una
« insurance while in transit L a5 @y Lo cneldd)
« sales and other taxes §,51 il o9 cilagdl Aoy
* purchase commission &Lladl Ageac
« installation costs cuSUl oIS
» cost of testing the asset before it is used Lol Jud Jouad| jLas| 2aIS
After the asset is up and running, the company no longer debits insurance, taxes, and
maintenance costs to the Equipment account. From that point on, insurance, taxes, repairs, and
maintenance costs are recorded as expenses.
laadl ol e Pl wlyally ueldl aallSs Jad ¥ 36,01 G5 e Jyead) T o
NSPCPY
89 a e Ll ud @iy Sl pall sia old Aadidl sda (0
Furniture and fixtures include desks, chairs, file cabinets, display racks, shelving, and so forth.
The cost of furniture and fixtures includes the basic cost of each asset (less any discounts), plus all
other costs to ready the asset for its intended use.
ool sy mlalll bilis qul,S e lill iy ST agas
3T G L Bolias (wlagass ¢l Las Logiatnn) Jouadl sda oo JS 2S5 s Y 2405 pasias
S (o,all 38l mias S
A company may pay a single price for several assets as a group—a “basket purchase.” For
accounting, the company must identify the cost of each asset. The total cost (100%) is divided
among the assets according to their relative sales values. This is called the relative-sales-value
method.
el (4 sezmeS Tl (1o sk 1,4) Ao gazmaS Jouad] oo dpuall Ty (2w 35,801 pd05 U5
el et G Jgud¥l 00 s (%100) 2dlenyl 2Kl . Lol S 25 wyums 35,401 e
Al alagd) s 48l (sl ldag Auwdd)
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Example:
Fair value Percent Multiply  percent by Allocated cost
total cost of $140000
Land $75000 50% $70000
BuﬂdMg $60000 40% $56000
Equipment $15000 10% $14000
Total $150000 100% $140000

Divide fair value of each asset by

the total fair value of $150000

Bl ALl el Jls! e
150000

Jleal ceaddl s o
Wlldly sladl Al
140000

Accountants divide spending made on plant assets into two categories:

Lea connd ) caiall Jguol (e Gyl Ggenlll udy

» Capital expenditures &lowl, cilaas

* Expenses <laas

Capital expenditures are debited to an asset account because they:
Ll o gaie Jiad1 /> Loz Loy oy Aol 1 slaal
« Increase the asset’s capacity or efficiency, or of (43:1aS ol Jua¥l 5,08 133
« Extend the asset’s useful life (Lo Ll el 2Us)

Expenses incurred to maintain the asset in working order, such as repair or maintenance expense,

are not debited to an asset account. Examples include the costs of maintaining equipment, such

as repairing the air conditioner on a truck, changing the oil filter, and replacing its tires. These

ordinary repairs are debited to Repair and maintenance expense.
Lla> o ¥ byl of &luall ylas Jie (Jos Uy ¥l e Llaxl) Lo piz I iyl
A pady e la § sl Sa ol Jie claall Llus SIS canylall sda e Wil Jods

Dty Llpall oy yns [> e Lo Leld) o bl MY sda Lelyls] Jlaiwly ol
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Capitalize or Expense? Impact of Accounting Errors
Apslel e Uas 80 Taalp! pf Adlowy isylias
Treating a capital expenditure as an expense, or vice versa, creates an accounting error. This error:
Ul lia . genle Uas 3lis ¢ uSally o (oly) Lel e adlasl I canyliall Axllae
» overstates Repair and maintenance expenses iz Loa AST Dbl Lilpall ildg pms 8L
« understates net income .z laa A4ST |51 Sle pawass Jlly
» understates Equity cox Leo AST JWI (uly (arasesy
+ understates the Equipment account on the balance sheet
JUI S aley alaall Glus jagass
P Ifacapital expenditure is incorrectly recorded as an expense:

3152 89 pmn Lel e pdols Ui 2wl Il canyliall Juzmad @313) P

Overstates expenses —as,Lall @udzy 5L

Understates net income (5! Ql.‘a iy yads

Understates EquitydSILl Ggd> bty yads

Understates assets (equipment) J}gﬁ!\ iy bl
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The second learning objective is to account for depreciation.
LISaY e Alaall U gnclad] Bl
Depreciation is the allocation of a plant asset’s cost to expense over its useful life. Depreciation
matches the expense against the revenue generated from using the asset to measure netincome.
¥l e B9 all Al Lilad 2 Layee I 89 ian () pivall Jool 42155 2155 g cIDlaY
J5 ol Blo olid JT e sl ol (ye il
All assets except land wear out as they are used. A delivery truck can only go so many miles
before itis worn out. As the truck is driven, this use is part of what causes depreciation.
JLa¥l (e sue pud o pubaiad ealedll s Li Ll asiad @z bodie cllgud (o3 lus Lo Joua¥l S
cDlial Cid Las 532 92 alusiadl lda old (AsLadl 808 ony LS . 2y Layee (gab ol Jud
Jeuadl
Additionally, physical factors, like age and weather, can cause depreciation of assets. Some assets,
such as computers and software, may become obsolete before they wear out. An asset is obsolete
when a newer asset can perform the job more efficiently. As a result, an asset’s useful life may be
shorter than its physical life.
Jie o Jguad) (any Jouadl eIMal Caun o (Sey udlally yendl Jio (Ablpall Jolgall ccls J) 48ls)
iy Lo Aagdll e may Juodl i o 8 2asadl muus mmms Of Sy climadly &l 3g0aS)
G anll (o 1ndl 09Sy W8 2l jeall Ol AnlS ST 8:LSH Jeadl Ll Susl ol
Sl
In all cases, the asset’s cost is depreciated over its useful life.
o ayee I LSial @iy Juad 2215 o8 (¥l S
Depreciation is not a process of valuation. Businesses do not record depreciation based on
changes in the asset’s market (sales) value. Depreciation is recapturing the cost invested in the
asset. Depreciation does not mean that the business sets aside cash to replace an asset when it is
used up. Depreciation has nothing to do with cash.
Lauall) Ldgud! Lol Ll a3 e sl el Beud ¥ Jlee¥ clids oeds Auae wad Uz
Lilr pantee Jles¥l 5Lade oF oy ¥ el oY 3 8 patilacd | A2 sl g DAY (Aard]
Al 285e 4 e ¥ Toles ez Lotie a1 Jlonidadd 2l AL
Depreciation of a plant asset is based on three factors:
1.Cost
2. Estimated useful life

3. Estimated residual value
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Cost is known and, as mentioned earlier in this chapter, includes all items spent for the asset to
perform its intended function. The other two factors are estimates.
Leaadsg s 1Y La¥l e by Gl 3gid) et ¢ hasll T @alu 2y 3 6,85 @39 plad LS dalSl)
RUAJUNTE) PERUEL | PSR XWESY
Estimated useful life is the length of the service period expected from the asset. Useful life may be
expressed in years, output, miles, or some other unit.
o of ey Ball Lo Ll Slall Lol (o Andgall Bactidl] 378 Jsbo s @padall Loyl yanll
&3l lasg of (JLadly clayillly clgiadly Lire pa|
For each asset, the goal is to define the estimated useful life with the measure (years, units, and so
forth) that best mimics the asset’s decline or use. For example, a building’s life is stated in years, a
truck’s in the number of miles it can drive, and a Xerox copier’s in the number of copies it can
make.
Glly (@] ety e lgim) (olady (§peaandl dall 2 lY) peadl Casyad @iy oF Badl ol « ol JS
el Ladgazs @iy LA Bl JUS oo 2D ol daid (adlid wux Jied 0sS)
Acgidall audll suay Aeldall AT e glaall Jleel ] soiay 2usLad)
Estimated residual value—also called salvage value—is the asset’s expected cash value at the
end of its useful life. A delivery truck’s useful life may be 100,000 miles. When the truck has
driven that distance, the company is done depreciating the truck. The expected cash receipt at the
end of the truck’s life is the truck’s estimated residual value. Estimated residual value is not
depreciated because you expect to receive this amount at the end. Cost minus residual value is
called depreciable cost.
(Yl el Lle 3 deall) Wadl ded (2 (Rlad) el (eud (Gl -Leess @3 Q1 gl Aagall
cSlial ud sSG BLaAll ol ALl b yud A Lad! Leie .Jse 100000 ZisLidd 2Lyl yaadl
A Lad)
There are many depreciation methods, but three are used most commonly. They are:
(R epdla JSay e 3O pluseiwl @i (s «Irwd | Byl (o dgrall llia
* Straight-line oLl lauall 45,1
* Units-of-productionz lu¥! <lusg
* Declining-balance _a8liall uus I
These methods work differently in how they derive the yearly depreciation amount, but they all

resultin the same total depreciation over the total life of the asset.
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The straight-line (SL) method allocates an equal amount of depreciation to each year. The
formula to compute straight-line depreciation is as follows: (Cost minus residual value) x one

over the life x no of months/12= depreciation.

Lol iy Y Glused Bipall A JSI I ol ales coltll Tawall daske jajasd

ik LS (2 ol
L) il e e Baudo p a1 saay g yne 2 LuY) eall 2l 2l 2egall Las by lao 25311
12@‘9

An asset’s book value equals its cost less accumulated depreciation. As an asset is used,
accumulated depreciation increases and book value decreases.
! 518 (ol ol sl e @ STAL L] Lo (og,lne 2881 Golud JuaM 2yl daall
A5 oyl sy bl SIAL
The units-of-production (UOP) method allocates a fixed amount of depreciation to each unit of
output. A unit of output can be miles, units, or output, depending on which unit type best defines
the asset’s use.
Ba>y leysll Glusg (e Busg JSI DY) (e Al 4SO z oY) Slusy Ayl asasd
plusiul e Juadl Sy ol @) samsll £53 o Silayie ol clumg (ool 055 08 oyl
N
Depreciation per unit is computed by multiplying the cost minus the residual value by one over
the life expressed in units. To determine the depreciation for the period, multiply the
depreciation per unit by the activity during the period — for example, the units produced during
the year.
seadl P Slusgll sue e Bl Zadll Lee gylas 201 Loy Sug JSI Y Ll o2y
WJleS -0 P LLAUN clusgy uslsll susgll clial s @n aAall S MY yusd
A W Azl Sl
The main accelerated method of depreciation is the double-declining balance (DDB) method. An
accelerated depreciation method writes off more depreciation near the start of an asset’s life than
straight-line does.
Eoludll eIt 2a,b (6585 3] . zoasll adlill s Il 360 b (2 I Ae)Ludll deuas I 4 L)
ot bl dasday 45lae Juo¥l yee 3l (oo coyall I e assll (e palzeall )
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Note that residual value is not included inM;;lﬂ:l::)‘rV:l‘;;a. Residual value is ignored until the last
year. Final-year depreciation is calculated as the amount needed to bring the asset to its residual
value.
L) Dlial aid) ,3Y Llales oo Baall el el § Beats i Ldall Al of las
Al dieid g1 Jual Jgumsld Callall AL 461 e ol o 3,581
The formula to compute double-declining-balance is as follows: The cost minus accumulated
depreciation (book value) is multiplied by 2 divided by the life of the asset multiplied by the
number of months/12. Hence, the name “double”. Since book value decreases each year, the
amount of depreciation expense will decrease over the asset’s life.
Lagall) (ST el Lao (o)l 2Kl LS (2 zoa3ll (adliall dpml Glusd Ligall
"z9o5e" el el Lt (0912 eyt sy Ly yunng ¥l Bl e Losing 2 o Loy e (08001
4l Bl M5 (a8lidiw eI (89 yimn AaS L8 cale IS aBlils 25800 dagall o Us
Which method is best?
S sl 2 dak
That depends on the asset. A business should match an asset’s expense against the revenue that
the asset produces. Following are some guidelines:
Lty I lalp¥) dilie Jouadl wilass ae leall LLad gollany oF oy Juadl de cainy lda
rolalagdl jany (2 GYI Y
« Straight-Line : For an asset that generates revenue evenly over time, the straight-line method
follows the matching principle. Each period shows an equal amount of depreciation. For
example, the straight-line method would be good for depreciating a building.
T ol Laudll 2as,b ails (ol 590 Goludlly ol Wy 6l LoD Ay gl Jasall
Bosie coltdl Tauall 3a,ls 05985 a3 (JUL Joee e Y1 oo Dglude Tylade 578 S ylas aayllal
Sl Dl Gladsd
* Units-of-Production: The UOP method works best for an asset that depreciates due to wear and
tear, rather than obsolescence. More use causes greater depreciation. For example, UOP would
be good for depleting natural resources, like oil or coal. UOP is also good for vehicles (miles) and
machinery (machine hours).
Yo el i diagd (aasnn gl Juall ae Jindl S z oY) Slasg Aas)b Jeai iz Yl Sl
LU clasy 2ab 058w (JUL dow e 8T Bl cdad alasiadl (o sl aslazll e
SLSell wr Ll class dapb Loyl emall of Laaull (e dandadl slsll Calina Sue
(Y e clel) oY1 (JLa¥L)
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* Double-Declining-Balance: The accelerat’:ZIA::tVI:zg (DDB) works best for assets that produce
more revenue in their early years. Higher depreciation in the early years is matched against the
greater revenue. For example, DDB would be good for depreciating computers.
S ol ope sl mais A PR ) Juadl IS Jead deyludll das,kall izoidl padliall s !
iyl OsSa (JUL! e e Y Slabay! Jo¥1 clorad! § A DLl LE ¥ Lelsiu
igeaSd) BT MY Buiaa 7935 adlall s !

Straight- Line Units of production Double declining balance

For assets that generate revenue over | For assets that depreciate due to | For assets that produce more revenue in

time

wear and tear their early years

Wear and tear: the damage to objects, furniture, property, etc. that is the result of normal use

The insurance policy does not cover damage caused by normal wear and tear.

.éaLaJ\ ‘al.\_’w.uu}(\ Al 13 ) Loy l8lallly &5 g £ L S=b L“S“U‘ BYON RAPTYY
Question 1: Hastings Company has purchased a group of assets for $350,000. The assets and

their market values are listed as follows:

:JWE L 28l Hlandll colS U89 $350000 o Jgua¥! (1o Ae game 48,401 oLl

3\ Land $125,000
Sldae Equipment 75,000
U:Lm Building 200,000

Calculate the actual price for each of the purchased assets

Alaall ol il Aayd 4B gaed| Loyl
109375=400000 +350000 x125000 125000 ool
65625=400000 350000 x75000 75000 ol
175000=400000 +350000 x 200000 200000 S
350000 400000

10
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Question 2: Toys Ltd. bought the followingM;:IA;AIZ';V;EQE purchase for $750,000.
BuildingFMV of $375,000
Land FMV of $250,000
Equipment FMV of $300,000
Compute the price allocated to each for this purchase.
alhaddl sda oo K jaasll il Cows|
Answer: Building (375,000/925,000) x 750,000 = 304,054
Land (250,000/925,000) x 750,000 = 202,703

Equipment (300,000/925,000) x 750,000 = 243,243

Question 3: Jones Construction purchased a group of assets for $740,000. The individual assets

and their market values are listed as follows. Prepare the journal entry to record the transaction.

e &ngall uud sl @8 . b LS abgud Laylawl oo 310441 J5ua¥1 . 7400005 Jgsol de gama . 2S5 o)

Aolall olsy
Land $450,000
Building 400,000
Equipment 150,000
$450,000 + 400,000 + 150,000 = 1,000,000
Land (450,000/1,000,000) x $740,000 = 333,000
Building (400,000/1,000,000) x $740,000 = 296,000
Equipment (150,000/1,000,000) x $740,000 = 111,000
Land $333,000
Building 296,000
Equipment 111,000
Cash $740,000
11
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Question 4: Taylor Computer Services purg::s:dw:;:;ct of land and contracted with a builder to
build an office building, a parking lot, and landscaping. The following transactions resulted from
the contractor’s activities. Determine the total costs allocated to the land, building, and land
improvements accounts.
A cMelall aBgng 8989 IS ciSUI ilio slind by po iBlady (o] dalaie Taylor 48,4 o5l

(o Slautly ¢ Gleald (o) Baasell LIS A 50 Jglall cllblid (e cuzs
Purchased land for $135,000. a1 ¢l
Paid a demolition company $40,000 to remove an old structure on the property.

ASUL oud Gue A1 aua 35,40 285

Paid $14,000 in delinquent taxes on the property. Lads y5lis 280 (Sl4o 285
Paid the contractor $333,000 to design and build the office building. Sl eling WJJ $333000 Jglal! add
s
Paid $34,700 for fencing. ,:5will $34000 ads
Paid $39,500 for paving. Lozl $39500 ads
Paid an electrical contractor $14,900 for outdoor lighting. 3, $14900 ¢ L (<31 Jolal s

Lzl

a. Cost of land

b. Cost of building

c. Cost of land improvements

Answer:

a.Land =135,000 + 40,000 + 14,000 = 189,000

b. Building = $333,000

c. Land improvements = 34,700 + 39,500 + 14,900 = 89,100

Question 5: Record journal entries for the following transactions involving plant assets.

a. Paid $105,000 for equipment.

b. Paid $500 freight to have equipment delivered. oluall eulud e ildgyinse

c. Paid $2,700 to have equipment installed. &laall (oS3

d. Paid $55,000 to have a similar piece of equipment overhauled L>Mos| @3 laall (po Abiles dalad ¢l i
e. Paid $1,200 for periodic maintenance to the new equipment 8.zl oluael 4ysull &Lyl

12
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Date Accounts Debit Credit
Equipment 105,000
* Cash 105,000
Equipment 500
; Cash 500
Equipment 2,700
- Cash 2,700
Equipment 55,000
¢ Cash 55,000
Repairs expense 1,200
- Cash 1,200

Question 6: A large truck was purchased on January 1 at a cost of $60,000 and has a salvage

value of $5,000 after its life of 120,000 miles (5 years). The truck was driven 23,000 miles in year

1and 25,000 in year 2. Calculate the depreciation expense for years 1 and 2 under straight-line,

double-declining-balance and units-of-production depreciation.

oadl Tyl $5000 2 ie Aagd LS (60000 aleos (Aisedly Js¥1 yadl) SN 0936 Jols 2Lt 1,2 3
Jie 250009 « Jo¥1 2l Jio 23000 2 Ll 5503 e (ol yiss 5) Jue 120000 3 i gl (LY

A: (60000 — 5000)/5 =11000 for year 1

B: (60000 — 5000)/5 =11000 for year 2

C: 60000 x 2/5 = 24000 for year 1

D: (60000 — 24000) x 2/5 = 14400 for year 2

E: (60000 — 5000)/120000 =0.458; 0.458 x 23000 = 10,534
F:0.458x 25000=11450

Al Ledly
coadlall L uall Camps coglidl auall ietMaa¥l @5l,ks 389 Alills Jo¥1 dcudls MM 2345 Coues|
¥ alasgs
Year 1 Year

Straight-line A B

Double-declining balance C D

Units-of-production E F
13
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Question 7: McAfee Construction acquired the following plant assets on January 1, 2009. The delivery equipment
was driven for 12,000 miles of its useful estimated life of 100,000 miles. Compute depreciation for each of the assets.
Jiol 3 Jen 12000 Juso sl cloine B8 cad (Jo¥ pid!) SN 0538 & Al Jua¥l B3limy 4S8 il
A Joua¥ e IS MY el Jie 100000 5 5usll Layos

Assets Cost Residual Value | Useful Life Depreciation Method
Office Equipment $150,000 $ 5,000 5 years Straight-line

Building $240,000 $20,000 20 years Double-declining balance
Delivery equipment $125,000 $25,000 10 years Units-of-production

a. Office equipment

b. Building

c. Delivery equipment

Answer:

a. Office equipment - (150,000 - 5,000) x 1/5 x 12/12 = $29,000

b. Building - 240,000 x 2/20 x 12/12 = $24,000

c. Delivery equipment - (125,000 - 25,000) x 1/100,000 = 1 x 12,000 = $12,000

Question 8: Porter Business Products acquired equipment on January 1, 2008 for $470,000.
The equipment has an estimated useful life of 5 years and an estimated residual value of
$30,000. The equipment is expected to produce 150,000 units. During 2008, the equipment
produced 24,000 units and during 2009, the equipment produced 60,000 units. Calculate
depreciation expense for 2008 and 2009 under each of the following methods.
dady Slgiw 5 2] e Slaasd] 470000 alesy 2008 Sl 093 yed S Slaas A8, 8 ol
connil 2008 ale M5 Bums 150000 claall 7 of adgall e $30000 #ls¥l peall Llgy &ypais
20095 2008 sle JHs IHaY Aads Cownl 5umg 60000 comiil 2009 ale JHlsg (3uimg 24000 lall
AW I 35lhb 349

<Mia¥| 4aiyl | Depreciation Method 2008 2009
ol lawall | Straight-line
uadliall ugo Il Caas | Double-declining balance
z¥l wlasy | Units-of-production
14
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Depreciation Method 2008 2009
Straight-line $88,000 $88,000
Double-declining balance $188,000 $112,800
Units-of-production $70,320 $175,800

Straight-line -($470,000 - 30,000) x 1/ 5 x 12/12 = $88,000 per year
Double-declining balance
2008 - $470,000 x 2/5 x12/12 =$188,000,
2009 - ($470,000 - 188,000) x 2/5 x12/12=112,800
Units-of-production - ($470,000 - 30,000) x 1/150,000 units = $2.93 per unit
2008 - $2.93 x 24,000 units = $70,320,
2009 - $2.93 x 60,000 units = $175,800
Question 9: Blake Roofing Company purchased equipment on October 1, 2008 for $106,000.
The equipment has an estimated useful life of 8 years and an estimated residual value of
$10,000. The equipment is expected to be used for 60,000 hours. During 2008, the equipment
was used for 5,000 hours and during 2009, the equipment was used for 15,000 hours. Calculate
depreciation expense for 2008 and 2009 under each of the following methods.
8.4 Y yeall 508 106000 pleos (Salall 1 idl) Jo¥ (il pds IS Sliias 4S8 o L)
e La 60000 loall Joad o5F 5oty $10000 2 bs¥l yead! Al 2Lad ady &y
ceu] el 15000 Lol useiwl 32009 ale IMs-9 cdel 5000 faall plasiwl 32008 ‘aLc I
AW @51l 335 200992008 ele I35 ISka¥l 3 yune

Mia¥| da b Depreciation Method 2008 2009
ol Lasall Straight-line
o8l ugo Il Cans Double-declining balance
A ARNE Units-of-production
Depreciation Method 2008 2009
Straight-line $3,000 $12,000
Double-declining balance $6,625 $24,844
Units-of-production $8,000 $24,000
Straight-line —
2008 ($106,000 - 10,000) x 1/ 8 x 3/12 = $3,000
2009 - ($106,000 - 10,000) x 1/ 8 x 3/12 =$12,000
15
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Double-declining balance .
2008 - ($106,000 x 2/8 x 3/12 = $6,625,
2009 - ($106,000 - 6,625) x 2/8 x 12/12 = 24,844
Units-of-production - ($106,000 - 10,000) x 1/ 60,000 hours = $1.60 per hour
2008 - $1.60 x 5,000 hours = $8,000,

2009 - $1.60 x 15,000 hours = $24,000
Changes in Useful Life or Residual Value
L el s Al Zarally g ol il
Estimating the useful life of a plant asset poses a challenge. As the asset is used, the business may change its
estimated useful life.
B sl el a3 08 38,801 ol «Jio¥) puiitun Wb 5) . guzms JSES piall Jad (2 Y] aall puas
Accounting changes like this are common because they are estimates and, as a result, are not
based on perfect foresight.
Al 23 e udled Y el AT g o paas LY dailis sda Jie Al olygadl
When a company makes an accounting change, generally accepted accounting principles require
the business to report the nature, reason, and effect of the accounting change.
Jles¥l slade pgas of logee Wgall bl toldl s guolme ity 38,400 5a5 Laie
bl el 1 3 ain s o yaally
For a change in either estimated asset life or residual value, the asset’s remaining depreciable
book value is spread over the asset’s remaining life.
ablally aaal) A8l deyall auies i 4ild Adal) Aegally o aall ¥l eall L) sl
oS il sl seadl e PDlza
Exercise 1: Thrasher Towing Company owns a fleet of tow-trucks purchased several years ago at a cost of $600,000.
$600000 La,ud 4alSay &l gics B ke 031, @F e b L Jolasad ellas .. AS, 4
At the beginning of the current year, all of the engines in the tow-trucks were overhauled. The overhauls cost a total
of $160,000 and are expected to extend the life of the fleet 8 years beyond the original estimated life.
Bl okl aBsig «$160000 degazma Lo AoLadl Slmibiadll cuilS wBy o lim Ladl Sl yme o o3 (llnd] 2l Bl 3
Al B sl Sl aay Slgiv 8 Jolasdl
The company has depreciated the fleet using the straight-line method for five years. The balance in accumulated
depreciation at the end of the preceding year was $300,000.
$300000 jlyy Aasleed! Bl Ayl pazmall Iy . lgine uaddd ol awdll dasyk olaiwly Jolaudl 45,801 cllag

No residual value has ever been assigned to the trucks.
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A. What has been the annual depreciation recorded for the fleet?
Sl Ladl Jolaad Ul | ggiud| MY by oS
B.What was the original life of the fleet?
Sl Ladl Jslaadl L1 oall 4Ly oS
C. What s the remaining life of the fleet after the overhaul?
§ JoLadl Loyl way b Ladl Jolaadl ol yeall gabs
D. What s the revised amount of annual depreciation for the current year and future years?
Sadaradl olgiudly Al didd (goiadl MM Joall Al sa Lo
Solution
A. Depreciation=300000 + 5= 60000
B. Original life of the fleet= 600000 + 60000= 10 years

C. Remaining life of the fleet after the overhaul= 10 years - 5 years + 8 years = 13 years

D. the revised amount of annual depreciation for the current year and future years =
The asset’s remaining depreciable book value =($600,000 - $300,000) + $160,000= 460000
Remaining life of the fleet after the overhaul= 13 years
Annual depreciation= 460000+ 13= $35,385
Exercise 2: Humphries Greenhouse purchased a greenhouse for $180,000. The greenhouse had an estimated useful
life of 20 years and an estimated residual value of $20,000.
$20000 4 3 LY ol il 2l Zesally ale 20, oSl LY yaadl y3a5 @39.180000 4 (3 Lnj oty 3, s
The greenhouse has been depreciated for five years using the straight-line method. At the beginning of the sixth year,
management revises the total useful life of the greenhouse to 12 years.
aiyidy Jea¥l (2 i¥l peadl 5)la¥l can |y s lud) Ludl lay G . colid! hwall 480 )b alasiwly lgiw 51 Juadl| Plzal @3
ple 12,
A. What has been the annual depreciation recorded for the greenhouse?
S x| Ggiad! Mo o sid by oS
B. What is the book value for the greenhouse?
S48l Aauill AL oS
C. What is the remaining life of the greenhouse?
§ Al seall 5o Le

D. What is the revised amount of annual depreciation for the current year and future years?
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Answer:
a. Annual Depreciation=($180,000 - $20,000) - 20=$8,000
b. The book value= Cost — Accumulated depreciation
Accumulated depreciation= 8000 x 5 years= 40000
Book value=180000- 40000= 140000
C. The remaining life of the greenhouse= 12 years - 5 years = 7 years
D. The revised amount of annual depreciation for the current year and future years =($140,000 - $20,000) +

7 years=$17,143

A fully depreciated asset is one that has reached the end of its estimated useful life. No more depreciation
is recorded for the asset.
¥ s el ol e win ¥ QWL 5aall 2 ¥l syes Blg I o gl ¥l 13 sa JalSIL cllzll Ju¥|
If the asset is no longer useful, it is disposed of. If the asset is still useful, the company may continue using it.
el iy et 35,400 L6 Tade J1sa ¥ Jua¥1 6 13) (oSg die palsedl] @2y Joie oy o ¥ 0 13

The asset account and its accumulated depreciation remain on the books, but no additional depreciation is

recorded. In short, the asset never goes below residual value.

da be J) cads ¥ L (L8 latsly JLa! cDlaal éi Jemad p ¥ (Sdg SBAIL A cIDlaY) aezay il ol

NREN IR EINPENE
The third learning objective is to record the disposal of an asset by sale or trade.
Eventually, an asset wears out or becomes obsolete.
(isald Asbn omd) Ryie s of ) o a3 Al 3
The owner then has different choices. The owner can sell or scrap the asset, or trade it in for an asset that is
not similar in functionality.

Ly oIl biles pe ol dllodial of Juadl cudais ol Jua¥ sy 0 (8Cay UL Aalizen olyls 80 Ladie UL alel 058G
Examples include selling a Ford truck for cash, scrapping a Toyota truck for no cash, or trading a truck for a copier
machine. All are non-like property exchanges and a gain or loss on the transaction must be recognized by the company.
e 2 sl sda S AL sl Jladal of (guds dilie gy Ugsgs i La wu ks Juas 598 Ll e A (paias

A8, 500 8 e ByLusdl ol b SlAN 5y ol Judbs diles
Another scenario involves trading the asset for another asset that has similar functionality. This is called a like-kind
exchange. No gain or loss is recognized on like-kind exchanges. An example of a like-kind asset exchange would be

trading a Ford truck for a Chevy truck.
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Regardless of the type of exchange (like or non-like kind property), the four steps for journalizing disposals or trades are
similar and are as follows:
ik LS (9 Apliade 5Las¥) of sl LY m ¥l lshased) 08 ((duliie st o Jols of iles) Joliddl g3 oy Slasdl iy
1. Bring the depreciation up to date.
SESNEE AL JEL LT (F TP RLANES
2.Remove the old, disposed-of asset from the books.
Bl e die Jselly el LS 2150
a. Make the Asset account equal zero by crediting the asset for its original cost.
Al axaln, Lsls Lol Gl Jaoms ol Uglue Juadl /> Jan
b. Make the Accumulated depreciation account for the asset equal zero by debiting it for all the
depreciation taken to date on the asset.
ey 2lad ISlza¥ ) Lol Do gzl ol Jazmy yiiall Dolus Juod cIMa¥! pazes /> Jaz
3. Record the value of any cash (or other accounts) paid (or received) for the asset. For example, if cash is
given, credit Cash. If cash is received, debit Cash. If a notes payable was signed, credit Notes payable.
e e Ladlil @3 of cads (6351 bl (61 o) Ayds daud (ol Jumad
Lsls Jazmy 2aasll Gl 06 Luds ads @313) Slia
Lot 22l ol 0L 2055 ol 513
Galo padl 3ol ol Jaz piiee <283 Blyol s o3 13)
4. Finally, determine the difference between the total debits and total credits made in the journal entry.
Leagall oty 21l AL ezl Akl AL Jlez] o Gyl dpaes (Jpsf
If the asset was traded for a like-kind asset, the net difference in debits and credits will be recorded as a debit
to the new asset account.
gk Llamedd s 25101y Aol ALY o 355l Bl 018 el ol s T (o0 s 5 08 i1 0 13)
el ol Gl
If the asset was traded in a non-like-kind manner, then the net difference will represent gain or loss on the disposal (or
sale) of the disposed asset Record the gain or loss flow to the Income Statement as follows:
() bl o Bylacill 5 oS i 33,1 Bl 06 Lactie e Jilon i ol o1 o s 5 15 ¥l o 1)
ok LeS sl Aaslay Bl of ol Jpzmand g . Jiadl] (1o
« If the total debits > total credits---a credit entry will be made to make the journal entry balance. The credit represents

a Gain on sale (or disposal) of an asset.
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* If the total debits < total credits---a debit entry will be made to make the journal entry balance. The debit represents
a Loss on sale (or disposal) of an asset.
oSy ol Byl iag Joma O cazs (e ss dud Byl (old <Al LA gama > Agall AL goazs oE 13)
el ye sl ol ¥ a0 Byl
« If total debits = total credits, there is no Gain or Loss on sale (or disposal) of the asset.
A alsdl ol LY e o Byl Mg Cula W iz gy W asle <=2 || AL pgame = 2iuall LA goazma 813
The fourth learning objective is to describe ethical issues related to plant assets.
aall Josols dalail| a8 LLnall Cayog 2l ) ol Bl
The main ethical issue in accounting for plant assets is whether to capitalize or expense a cost. In this area, company
opinions vary greatly. On the one hand, companies want to save on taxes. This motivates them to expense all costs and
decrease taxable income. On the other hand, they want to look as good as possible to investors, with high net income
and assets.
lia 3 Sty casylan LS5 ol canlall Aoy podiv 13] Lagd (A Al Jouadl (e Lwlnll § Al 3,801 Anall
yal) capbiall S Jams akam Iy aclys adyis SBall oty el god S UKo oolels 35801 sl ol 305l
dle dle dou copmetladl Jlan oSel b uir st OF Ogse i md <531 2ol (09 Ayiall paliell U5l (aass
Adle A8 @13 Jouoly
In most cases, a cost that is capitalized or expensed for tax purposes must be treated the same way in the financial
statements. What, then, is the ethical path? Accountants should follow the general guidelines for capitalizing a cost:
Capitalize all costs that provide a future benefit. Expense all other costs.
92 Lo 2 U @5lsal) (3 Leuas bl Jelad o3f e s (o1, Goly) 4845 A 9l Jesyd LRI I (5 NP PW
T AW 2zl 03
S S S g Aulidiun dadie auds G oIS IS Aoy AalSa) dlawyd aladl oLyl loasdy o neslzll (e
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Capitalize or Expense?

Capitalize dlow, Expense 89 4a0
Results in higher asset value and larger netincome Results in lower netincome
AST Blio U35 Bliog AST ISy puds Jual Lie iy J81 U5 Gls el (e mily
® Looks better to investors ® |esstaxes
Ooreilucell Ll i oo J81 s 3 e iy
If cost provides a future benefit, then capitalize If cost does not provide a future benefit, then
owylly @8 lacie Adiatue adlie puas 4alSEll cslS 13 | expense
(Lol oo 532 il pael) | srel ladie (ldtie dadie auas ¥ LlHl ool 13)
TYPVYINY

Exercise 3: An asset was purchased for $12,000. The asset's estimated useful life was 3 years and its residual
value was $2,000.
$2000 (LYl jead) dle aall dagally lgi 35 Y yeadl 53055 @3.$12000 5 Juol ol @3
1. How much depreciation is deducted in the fourth year of use if the straight line method of depreciation was
used?
ol sl das,l 2 daall el 46,0 s3] alaseradll Zay) I | Gl alazall IMa¥) bawd il oS
2. How much gain or loss is reported if the asset is sold for $3,000 at the beginning of the fourth year?
oy ) Al 3410 $3000; das 03 48 La¥1 (IS 13) 3yluesd) ol sl gl @
3. How much gain or loss is reported if the asset is sold for $3,000 at the end of the fourth year?
Aay ) 2adl Al $3000; das 03 48 L1 (IS 13) 3ylued) ol sl gl @
4. How much gain or loss is reported if the asset is sold for $1,000 at the beginning for the fourth year?
Aoy, A 3410 $1000; dags 03 48 Lia¥ 1 IS 13) 8l 9l Sl aly o
5. How much gain or loss is reported if the asset is sold for $5,334 at the beginning for the third year if the straight
line method of depreciation was used?
b 2 2aall e dasb col 13) Al Al 4yl $5334 4 dawy @3 a8 bl o 13) Bylucsd of sl by oS
Sl lawall
Answer:

1. Depreciation is not deducted in the fourth year of use because the useful life is 3 years.

Slgin 3 9o 2yl yenll o Ayl Ldl § Ilial o alazay ¥
2.3,000 received - Book value 2,000 = 1,000 Gain
3. 3,000 received - Book value 2,000 =1,000 Gain
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5. Annual depreciation= (12000-2000) + 3= 3333
Accumulated depreciation at the beginning of the third year= 3333 x 2 years= 6666
Book value at the beginning of the third year = $12,000 — 6666= $5,334

Book value = sales price=>No Gain or loss
Exercise 4: Kelly Petroleum Products owns furniture that was purchased for $19,600. Accumulated depreciation
is $17,300.
The furniture was sold for $3,800. Record the proper entry for this transaction?
173008 IMia¥| peze .$19600 22k, asisl Sl ... 484 cllas
Aalall a.ia w8 iy 033800 jlae BUYI a3

Accumulated depreciation 17300

Cash 3800
Furniture 19500
Gain on sale furniture 1500

Exercise 5: Kelly Petroleum Products owns furniture that was purchased for $25,000. Accumulated depreciation
is $22,000. The furniture was sold for $3,900. Record the proper entry for this transaction?
22000$ I peze .$25000 2ol 45l ST ... 4854 cllas
Aolall sda uud Jezady ©8.3900 pliay SUY gy @3

Accumulated depreciation 22000

Cash 3900
Equipment 25000
Gain on sale furniture 900

Exercise 6: Kelly Petroleum Products owns fully depreciated equipment that was purchased for $26,500. The
equipment had an estimated useful life of 8 years and an estimated residual value of $2,500. The equipment was sold
for $2,700. Record the proper entry for this transaction?
dogilly clgin 8 5 laaddl 2lu¥l jeadl uas @5 $26500 Aol Laslyd @ JolSIL Ao Slams 8854 el
lalall suid cannelill ol Sy 032700 oy laall s 03 152500 ¥ yend] Al ol

Accumulated depreciation 24000

Cash 2700
Equipment 26500
Gain on sale furniture 200
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If the asset was traded for a like-kind asset, the net d’;};::;::::; debits and credits will be recorded as a debit to the
new asset account.
by Lgae Llizmad iy @lally 2apull AL G 39,401 Bl 08 eyl Jual st dal (0 o @3 a8 Juadl o 13)
ezl LY
If the asset was traded in a non-like-kind manner, then the net difference will represent gain or loss on the disposal
(or sale) of the disposed asset Record the gain or loss flow to the Income Statement as follows:
(21) pakseall oo Bylusdl 9 nelSU (uSain 39,881 Glio (118 Lanie (Jilow e il ol yis Uo¥ day 03 03 ¥l (IS 13)
Jidl 0
Exercise 7: Lowery Food Market owns refrigeration equipment that cost $10,000 and has accumulated
depreciation of $8,500. The company exchanges the equipment for new equipment (like-kind asset) worth
$12,000.
Aeliis By lasy lasll Aoleey 35,401 cls $8500 cIMial pezs Lealy $10000 AalShy wyrs Byl .. 28,4 cllas
$12000 Liesd
In addition to the old equipment, the company pays $10,000 for the new equipment. Record the proper entry for

this transaction?

Salolall sdd cwlin uid Jizmads @8 Bzl cslaall =¥ $10000 48,400 cnds wad deguall oluael 280LaYL

Refrigeration Equipment 11500

Accumulated depreciation 8500
Old Equipment 10000
Cash 10000

Exercise 8: Lowery Food Market owns refrigeration equipment that cost $10,000 and has accumulated depreciation
of $7,400. The company exchanges the equipment for new non-like kind asset worth $12,000.

died Glin p ol olaall Woliey 38,400 cals .$7400 IMial pazs Leady $10000 AalSay uyps T .. 2858 cllas

$12000

In addition to the old equipment, the company pays $10,000 for the new equipment. Record the proper entry for this

transaction?

Salalall o) ol B Juzmady 08 Byl Sluall U2 $10000 48,400 cands 1ad dapuall Sluaal) 23L2YL

New asset 12000

Accumulated depreciation 7400

Loss on exchange of equipment 600
Old Equipment 10000
Cash 10000
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March 23 Avan that cost $23,700 and had accumulated depreciation of $21,000 was sold for $1,250.
$1250 6,3 e $21000 LSHlial pozmas $23700 LealKs 2Lt a3 5151 23

Cash 1,250
Accumulated depreciation-Van 21,000
Loss on sale 1,450
Van 23,700

November 1 A truck that originally cost $44,000 and had accumulated depreciation of $38,000 was traded for a

new machine with a fair market of $58,000. The company traded the old truck and $5,000 in cash.
253 39558000 Wslall Ldgad! Lioud Btsorz L LelsLis o3 $38000 LSHial pozas $44000 Lealks dimLas Ll sy a
ol oS A3y Taas $5000

New machine 58,000

Accumulated depreciation-old truck 38,000
Cash 5,000
Old Truck 44,000
Gain on sale 47,000

November 1 A truck that originally cost $44,000 and had accumulated depreciation of $38,000 was traded for a new

Truck with a fair market of $58,000. The company traded the old truck and $5,000 in cash.

New machine 11,000

Accumulated depreciation-old truck 38,000
Cash 5,000
Old Truck 44,000

A machine had a cost of $210,000 and accumulated depreciation of $47,000 was traded for a new machine with a fair

market value of $235,000. Cash of $80,000 and the old machine were given in trade. Journalize the exchange of these

similar assets.

New machine 243,000

Accumulated depreciation-old machine 47,000
Old machine 210,000
Cash 80,000

24

https://manara.edu.sy/




Z4

ojloJl

MANARA UNIVERSITY

Exercise 10: Prepare journal entries for the following transactions.

2008

Jan. 1 Purchased equipment for $40,000 cash, $4,000 residual value, 10-year estimated life, straight-line depreciation.

May 1 Purchased a building for $90,000, $4,000 residual value, 20-year estimated life, double-declining balance

depreciation.
Dec. 31 Recorded depreciation for the equipment.

Dec. 31 Recorded depreciation for the building.
2009

June 30 Sold the equipment for $25,000 cash. (Record depreciation to date for 2009 before selling equipment.)
Dec. 31 Recorded depreciation for the building.
Date Accounts Debit Credit
2008
Jan. 1 Equipment 40,000
Cash 40,000
May 1 Building 90,000
Cash 90,000
Dec. 31 Depreciation expense — equipment 3,600
Accumulated depreciation — equipment 3,600
Dec. 31 Depreciation expense — building 6,000
Accumulated depreciation - building 6,000
Date Accounts Debit Credit
2009
June 30 Depreciation expense — equipment 1,800
Accumulated depreciation - equipment 1,800
June 30 Cash 25,000
Accumulated depreciation — equipment 5,400
Loss on sale of equipment 9,600
Equipment 40,000
Dec 31 Depreciation expense — building 8,400
Accumulated depreciation — building 8,400
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